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600, 900 | 1500 ay ) —h—)L
KIRE AT 3000 500 | HUARA
(1) Wi
A= 1/2X% (0.900+3.000) X 3.000 = 5.850 m>
(2) = rY—h (EFHEEY) o ck=18 N/mm®)
V= 5.850%10.000 = 58.500 m?
(3) Tl (RS )
A= (3.059+3.354) X 10.000+5.850 = 69.980 m?
AlfAIE: = 1.01980 ATfEAHE . ¢,= 3.000%1.01980 = 3.059 m
HHpE: S,= 1.11803 EHmpHE:  ¢,= 3.000X1.11803 = 3.354 m
(4) HHokr (t=10mm 1.0 {87 / 10.000m &I 5, )
A= 5.850X10.000 / 10.000 = 5.850 m>
(6) K#k&, 47 (VP¢65 3.0m 1 EprEF E92, )
N= 3.059 / 3.000X 10.000 = 10.2 A
L= {0.900+ (0.24+0.5) X 1.500 } X 10.2 = 19.89 m
(6) Hirfrea (RC—40)
V= 1/2x (2.90040.500) X 3.000 % 10.000 = 51.000 m?
(7) =3 Z)—h—L (EfFHEYEY) o ck=18 N/mm® t=100mm)
V= 1.700%0.100 X 10.000 = 1.700 m?
(8) 7L (SD345 D13 L=200 1.0#H (2.04%) / 0.750m FHiET 5, )
N= 10.000 / 0.750 = 14 i
W= 0.200X 2 X14X0.995 = 5.572 kg
(9) &L (HEEANE S h=2.0mOBAICHRETS, )
A= (3.059+3.354) X 10.000 = 64.130 #m?




(10) HRaZV—b (EAREEY o ck=18 N/mm”) 14

f7iE :NO.47+10.0fF3L ~NO.52+13.00f+Fix

N=3 N=0 N=2
H=0.75 V= {1/2X(3.450+3.000) X0.75X1/2x(0.325+0.1 3 = 1.542
H=1.00 V= {1/2X(3.600+3.000) X 1.00X1/2x(0.400+0.1 0 = 0.000
H=1.50 V= {1/2X(3.900+3.000) X 1.50X1/2X(0.550+0.1 2 = 3.364
i = 4.906
(A1) R EERE (JEfmtsidy )

H=0.75 A= {1/2X%(0.600+0.375)X0.75 3 = 1.097
H=1.00 A= {1/2X%(0.800+0.500) X 1.01 0 = 0.000
H=1.50 A= {1/2X(1.200+0.750) X 1.5 2 = 2.925

&5 = 4.022

¥

&

BB BB,



AoV )—FT




P 7Y — ML BEEFR

FER -~k BT B =
o ck= 18N/mm® m® 0.6 IINIREEY)
IINIREEY) m* 2.8
SD345 D13 kg 2.123

SD345 D13 kg 6.368




B )N LEERFHEE

(1)

(2)

(3)

(4)

4000

1.0 K%y

BEHA

W= 4.000 / 0.250 X 2 X0.200x0.995

| | LD D13
100
] 18
S
] ar7)—hk
—I L@ D13@250
ar7Y—h (NRUREEY) o ck=18 kKN/mm®)
A= 1/2x (0.400+0.665) X0.265 = 0.141 m?
V= 0.141X4.000 = 0.564 m°
U (/NRIREER) )
WHERE: = 1.41421 HEAE: = 0.265Xx1.41421 = 0.375 m
A= 4.000X(0.26540.375)40.141 X 2 = 2.842 m”
2L O (SD345 D13 L=0.20m 0.75m{Z 1 & FT (Bl - 3 ) a% 7 5. )
W= 4.000 / 0.750X 2 X0.200%0.995 = 2.123 kg
ZLHO (SD345 D13 L=0.20m 0.25m(Z2f& Fra% i) 5, )

6.368 kg



¥ K I




PR T HEHEFHE

1.0X%47-0

T f& - 4 & AR - ~Tis AL ¥ & i &
Hi N HEK T
R AT (RS HIE $200 2/3FAEI| m 26.6




TR TEEFEE

BB A

N PR

FrikE

HILE ¢ 200
2EAF L

S
HILE ¢200
2/3[EAfL

T

Ty

RIS e KBS
(50 X 300L4_F)

FEF
(m)

FEF
(m)

i =

NO.47+10f13F

NO.48fF i

NO.48+10f1:F

NO.49fF 3

NO.49+10f13F

NO.501F

NO.50+10f3F

NO.511F3r

NO.51+5{F 3T

NO.51+18fF

NO.52+15f3F

NO.53fF

o
W

26.56




HIJLIN— T




AIWN—FT HEHHFE
Al # Al B8 B % 8 =
fEELT
KRiE Y T8 5 Om=W m3 614.0
RiE Y #}E 5 0m=W m3 652. 9
1. 0m=W1<4. Om
HRL W2<1. Om m3 503.5
AEMEEIF /&= m2 169. 4
B+T T® m3 131.3
ISFETHTERET
(RET) avoy)—=+F o ck=24N/mm2 m3 263.2
B — RS Y m2 610. 1
F73:01 SD345 D13 kg 4318
2148+3493+
E5.9:5 SD345 D16~D25 | kg 17979]  9162+3176
F73:01 SD345 D32 kg 13733
WLarsy)— k| ock=18N/mm2 t=10cm| m2 108.5
B HLER m2 5.6
BlEEa 21— k| ock=18N/mm2 m3 24.0
B — RS Y m2 15.0
B #h#f BEMMEE t=20mm| m2 14.6
18 E1E KR FF-200 x 5mm m 27.6
X & I THHR— b XR| Zm3 304.0
RBi5 Pl B 15 #hm2 431.6
(P 7K R T ) avoy)—=~F o ck=18N/mm2 m3 40. 6
B — RS Y m2 17.9
B #h#f FEEMMESE t=10mm| m2 2.6
(FARYUET) avyy—=% o ck=24N/mm2 | m3 10.0
B — RS Y m2 5.4
E5.9:5 SD345 D29 kg 2154
MEEa>2Y—bk| ock=24N/mm2 m3 9.4
(BET) a2 y—+F o ck=24N/mm2 | m3 11.0
gty L m2 48.1




AIN—FT HEEFHFE
Al it L R LR % = Hw =
730 SD345 D13 kg 307
F5.80] SD345 D16 kg 425
(¥ T) ik 29 ) — k| o ck=18N/mm2 m3 31.6
B —RR R P m2 33.0
RBi5 Pl B 15 $itm?2 32.1
RfEFET
(o @EgERT) |2V )—rJOvYy 1% % 35cm m2 96. 8
fRAa>%9)— k| ock=18N/mm2 m3 19.4
A RC-40 m3 50.0
B tth 44 EEMSME t=10mm| m2 7.1
Ximavo)—+k m 23 8| B MEHTEE
Efaro)—+k m 25 1| BB EHEE
15/hA1E (& i HEMBEHTEE
25/ Aik (& i HEMBEHTEE
(E5RT) EEa>9)—+bk| ock=18N/mm2 | m3 9.3
B —RR R P m2 1.6
B tth 44 EEMSME t=10mm| m2 1.7




LI TRERET (AK) BELEHE |

% =
C otk - <Hik HLAL ATays B7 a2 CTuyr P 5 &
BN H B Hi BN E B Hi BN E B H o
AR T

E R m - 11.000 — 15.000 — 10.000 36.000
A 7Y—h o ck= 24N/mm” m’ 7.312 80.4 7.312 109.7 7.312 73.1 263.2
L — m? 193.9 251.8 164.4 610.1 [C7 7R
gk SD345 D13 kg 929 1265 2124 4318
gk SD345 D16 ke 915 1233 2148
gk SD345 D19 ke 1161 1548 784 3493
gk SD345 D22 ke 3061 4156 1945 9162
g SD345 D25 ke 1346 1830 3176

/NEE (D16~D25) kg 6483 7534 3962 17979
gk SD345 D32 kg 5822 7911 13733
BLarz)—k o ck= 18N/mm* t=10cm | m’ 18.4 52.9 37.2 108.5
P — iR m? 0.9 2.5 2.2 5.6
[HFENZURSN o ck= 18N/mm” m® 23.5 0.5 24.0
P — R m? 14.7 0.3 15.0
H Hupt TEFHHEE  t=20mm m’ 7.3 7.3 14.6




LI TRERT (AK) HELHE 2

¥ &
& R otk - <Hik HAT A= B7ays oa=2 P 5 &
BN E B Hi BN H B Hi BN E B ik o

AT

e 1Rk AR FF-200 X 5mm m 13.80 13.80 27.6

R PSA TP R— AR 2¢m° 92.9 126.7 84.4 304.0

2 % Pl 2 3% Hm® 152.83 151.26 127.46 431.6
BB K B T

a7 —h o ck= 18N/mm” m’ 13.5 17.0 10.1 40.6

P — AP m’ 6.4 8.5 3.0 17.9

H i TEEHHEE t=10mm m” 0.960 1.670 2.6
TR IET

a7 —h o ck= 24N/mm? m® 5.0 5.0 10.0

P — iR m’ 2.7 2.7 5.4

g SD345 D29 kg 1077 1077 2154

CiE=NZ RN o ck= 24N/mm” m® 4.7 4.7 9.4




e+ T 3 = &t g = NO.
RIRY (B RIEY (e BEL
Bos | moa | v om| T moel wos | moa| wE| | moel woas | Emoal| owE| T me
NO. 0-4. 50 0.00 0.1 NO. 0-4. 50 0.00 2.7 NO. 0-4. 50 0.00 1.3
NO. 0 5.74 0.1 0.10 0.6 || NO.O 5.74 2.7 2.70 15.5 || NO.O 5.74 1.3 1.30 7.5
NO. 0 0.00 1.3 NO. 0 0.00 2.1 NO. 0 0.00 0.3
NO. 1 6. 30 16.0 8. 65 54.5 || NO. 1 6. 30 5.4 3.75 23.6 || NO.1 6. 30 0.3 0.30 1.9
NO. 1 0.00 20.6 NO. 1 0.00 7.0 NO. 1 0.00 13.8
NO. 2 2.00 17.5 19. 05 38.1 || NO. 2 2.00 10. 3 8. 65 17.3 || NO.2 2.00 11.8 12.80 25.6
NO. 3 3.00 19.6 18. 55 55.7 || NO.3 3.00 17.5 13.90 41.7 || NO.2 0.00 0.0
NO. 3+0. 43 0.43 19.7 19. 65 8.4 || NO.3+0.43 0.43 8.1 12.80 5.5 ] NO.3 3.00 0.0
NO. 3+4. 89 4. 46 13.5 16. 60 74.0 || NO. 3+4.89 4. 46 12. 4 10. 25 45.7 || NO. 3 0.00 8.8
NO. 3+5. 11 0.22 13.5 13.50 3.0 || NO.3+5. 11 0.22 16. 1 14. 25 3.1 || NO.3+0.43 0.43 4.9 6.85 2.9
NO. 4 0.91 13.5 13.50 12.3 || NO. 4 0. 91 16. 1 16. 10 14.7 || NO. 3+4. 89 4. 46 1.5 3.20 14.3
NO. 4+1. 07 1.07 13.5 13.50 14.4 || NO. 4+1.07 1.07 16. 1 16.10 17.2 || NO. 3+5. 11 0.22 14.1 7.80 1.7
NO. 4+1. 23 0.16 13.5 13.50 2.2 || NO.4+1.23 0.16 12. 4 14.25 2.3 || NO.4 0. 91 14. 1 14.10 12.8
NO. 5 3.01 18.2 15.85 47.7 || NO.5 3.01 14.9 13. 65 41.1 || NO.4+1.07 1.07 14.1 14.10 15.1
NO. 6 6. 00 24.0 21.10 126.6 || NO. 6 6. 00 18.0 16. 45 98.7 || NO.4+1.23 0.16 1.5 7.80 1.2
NO. 6+3. 66 3.66 10. 1 17.05 62.4 || NO. 6+3. 66 3.66 20.1 19. 05 69.7 || NO.5 3.01 20.6 11.05 33.3
NO. 6+3. 88 0.22 10. 1 10. 10 2.2 || NO.6+3.88 0.22 23.7 21.90 4.8 || NO.6 6. 00 28. 1 24.35 146. 1
NO. 7 0.91 10. 1 10.10 9.2 || NO.7 0.91 23.7 23.70 21.6 || NO. 6+3. 66 3.66 14.8 21.45 78.5
NO. 7+1. 07 1.07 10. 1 10. 10 10. 8 |[ NO. 7+1.07 1.07 23.7 23.70 25.4 || NO. 6+3. 88 0.22 14.5 14. 65 3.2
NO. 7+1. 23 0.16 10. 1 10.10 1.6 || NO. 7+1. 23 0.16 20.1 21.90 3.5 ] NO.7 0.91 14.5 14.50 13.2
NO. 8 8.78 8.2 9.15 80.3 || NO. 8 8.78 17.8 18.95 166.4 || NO. 7+1.07 1.07 14.5 14. 50 15.5
NO. 8 0.00 5.1 NO. 8 0.00 11.6 NO. 7+1. 23 0.16 14.8 14. 65 2.3
NO. 9 2.176 1.6 3.35 9.2 |[ NO.9 2.176 8.3 9.95 27.5 || NO. 8 8.78 14.2 14. 50 127.3
NO. 9 0.00 0.5 NO. 9 0.00 4.6 NO. 8 0.00 0.3
NO. 10 1.70 0.3 0.40 0.7 || NO.10 1.70 4.4 4.50 7.7 ] NO.9 2.176 0.3 0.30 0.8
NO. 9 0.00 0.1
NO. 10 1.70 0.1 0.10 0.2
a8 § 52.56 614.0 = 52.56 652.9 = 52.56 503.5




e+ T 3 = E g = NO.
EmEE (#8) BtT
Boa | moa | v om| T moel wos | Emoa| wE| Te| we
NO. 0-4. 50 0.00 0.4 No. 0 0.00 9.2
NO. 0 5.74 0.4 0.40 2.3 || No.1 6. 30 19.1 14.15 89. 1
NO. 0 0.00 2.4
NO. 1 6. 30 2.4 2.40 15.1 || No. 1 0.00 21.5
NO. 1 0.00 4.0 No. 2 2.00 20.7 21.10 42.2
NO. 2 2.00 4.0 4.00 8.0
NO. 3 3.00 4.0 4.00 12.0
NO. 3+0. 43 0.00 4.2
NO. 3+4. 89 4. 46 4.2 4.20 18.7
NO. 3+5. 11 0.00 4.0
NO. 4 0.91 4.0 4.00 3.6
NO. 4+1. 07 1.07 4.0 4.00 4.3
NO. 4+1. 23 0.00 4.2
NO. 5 3.01 4.2 4.20 12.6
NO. 6 6. 00 4.2 4.20 25.2
NO. 6+3. 66 3.66 4.2 4.20 15.4
NO. 6+3. 88 0.00 4.0
NO. 7 0.91 4.0 4.00 3.6
NO. 7+1. 07 1.07 4.0 4.00 4.3
NO. 7+1. 23 0.00 4.2
NO. 8 8.78 4.2 4.20 36.9
NO. 8 0.00 2.4
NO. 9 2.176 2.4 2.40 6.6
NO. 9 0.00 0.4
NO. 10 1.70 0.4 0.40 0.7
a8 § 51.37 169. 4 131.3
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(L) BITFIA—=veg

: S, -t
LI
P —




NO.
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NO.

s
o
_|_
o

=
=

GRTITERET

(RET)

5 _H

M &

H

s

felo

avh)-+

o ck=24N/mm2

<A7 myh>

(4.00x3.939—3.00x2.828+1/2x0.20x0.202

x2) x11

m3

80.4

<B7 mys>

(4.00x3.939—3.00x2.828+1/2x0.20x0.202

x2) x15.00

m3

109.7

<07 ayh>

(4.00x3.939—3.00x2.828+1/2x0.20x0.202

x2) x10.00

m3

13.1

e
®

— R

<A7 myh>

((3.939+2.626+0.284) x2+2.60) x 11.00

+ (4.00x3.939—3.00x2.828+1/2x0.20

x0.202%x2) x2 = 193.90

m2

193.9

<B7 myh>

((3.939+2.626+0. 284) x 2+2. 60) x 15.00

+ (4.00x3.939—3.00x2.828+1/2x0.20

x0.202 % 2) = 251.78

m2

251.8

<07 ayh>

((3.939+2.626+0. 284) x 2+2. 60) x 10.00

+ (4.00x3.939—3.00x2.828+1/2x0.20

x0.202 % 2) = 170.29

L TR R R

(1/2x (3.333+3.262) x0.50+2.624 x0.50) x2

5.92

170.3 - 5.9 = 164.37

m2

164. 4

E59:

SD345 D13

HHEERSY

A7 nyh = 929

kg

929

B7 nay4 1265

kg

1265

C7° Ayh = 2124

kg

2124




NO.

WRHEE
SRTITERE T (A{KT)
IH H RO it = = Bl #% =
53] SD345 D16 | #smE=ExRE Y
A7 nyh 915 kg 915
B7 my4 1233 kg 1233
SD345 D19 HmEERLY
A7 nyh 1161 kg 1161
B7 my4 = 1548 kg 1548
C7° myh 784 kg 784
SD345 D22 HmEERLY
A7 nyh 3061 kg 3061
B7 my4 = 4156 kg 4156
C7° myh 1945 kg 1945
SD345 D25 HmEERLY
A7 nyh 1346 kg 1346
B7 my4 1830 kg 1830
SD345 D32 HmEERLY
A7 nyh 5822 kg 5822
B7 my4 7911 kg 7911
¥ Lavh)-b | ock=18N/mm2 t=10en| <<A7" ByH >
4.20x4.38 m2 18. 4
<B7 myh>
4.20x12.59 m2 52.9
<07 ayh>
4.20x8.85 m2 37.2
B BHLER (<A77 oyh>
0.10x2x4.38 m2 0.9
<B7 mys>
0.10x2x12.59 m2 2.5
<07 ayh>
0.10x2x%x8.85+4.20x0.10 m2 2.2




NO.

HEFEE
BETEETL (KEI)
IH H B it 1 = B % E
EEavY-+ | ock=18N/mm2|<A7" OyH>
5.87x4.00 m3 23.5
<C7 mys>
0.13x4.00 m3 0.52
B — iR |<AT AY)>
5.87x240.75x4.00 m2 14.7
<C7 myyh>
0.13x2 m2 0.26
. B T '-J'- =
ke __ X
H i b T .
n'u'-' ‘Il_h"'-. k
Bihd |[Esssgm t=20m| <B7 0yh>
(4.00x3.939—3.00x2.8284+1/2x0.20x0.202
%X 2) m2 7.3
<C7 myyh>
(4.00x3.939—3.00x2.8284+1/2x0.20x0. 202
%X 2) m2 7.3
185E° 1E7K#R | FF-200 % bmm | <A7" 0y4>
L=13.77 m 13.8
<B7 myys>
L=13.77 m 13.8
&’ N A7 9 - AR[<AT mys >
(3.00x2.828—1/2x0.20x0.202%x2) x11.00 ZZm3 92.9
<B7 myys>
(3.00x2.828—1/2x0.20x0.202x%x2) x15.00 ZZm3 126. 7
<C7 myyh>
(3.00x2.828—1/2x0.20x0.202x2) x10.00 ZZm3 84.4
Bi5 BHRE | <ATmy)> REBIHREURELY
3.939x (12.0047.40) x2 = 152.83| #m2 152. 8
<B7 myy> RIGZFITIRIURLY
3.939x (15.50x247. 40) = 151.26( #m2 151.3
<C7rmyh> RIFTHRWELY
3.939x7.80x2+4+4.401x (2. 50x2+10.00)
= 127.46( #m2 127.5




NO.

HEHEE
IBETITERET (BSER/KERT)
IH H RO it = = Bl #% =
avhy-+ o ck=18N/mm2 | <A7" AyH>
0.101x3.0x11.0+1/2%x0.566x4.2x3.0%x2
+ (0.566+0.218) x1/2x2.6%3.0 m3 13.5
<B7 mys>
0.101x3.0x15.0+1/2%x0.566x4.2x3.0x3
+0.213%x1.580x1/2x%3.0+ (0. 56640. 455)
x1/2x0.820x3.0 m3 17.0
<07 mayh>
0.101x3.0x10.04+1/2x0.566%x4.2x3.0
+0.452%x3.36%x1/2x3.04+0.329%x2.44%x1/2x3 m3 10. 1
B — 2R [<A7 nyh>
(0.566 x3+0.218+0.101x2) x3.00 m2 6.4
<B7 mys>
(0.566 x4+0.4554+0.101) x3.00 m2 8.5
<07 ayh>
(0.566+0. 329+0. 101) x 3. 00 m2 3.0
Bi#h#r |Eswsm t=1om| <A7 0ys>
(0.218+0.101) x3.00 m2 0.96
<B7 mys>
(0. 455+0. 101) x 3. 00 m2 1.67
K. 51+10. 000 ]
g - r—— : - _ :
. e o
i
e}t —
G S




NO.

R HE
SFTTERET (§AYIET)
IH H RO it = = Bl #% =
avhy-+ o ck=24N/mm2 | <A7 AyH>
(1/2% (2.004+2.18) x0. 60 x 4. 00) m3 5.0
<B7 myh>
(1/2% (2.004+2.18) x0. 60 x 4. 00) m3 5.0
B — 2R [<A7 nyh>
(1/2% (2.004+2.18) x0. 60+0.08) x 2 m2 2.7
<B7 myh>
(1/2% (2.004+2.18) x0. 60+0. 08) x 2 m2 2.7
53] SD345 D29 | #kmEBE=ERE Y
<A7 myh> 1077 kg 1077
<B7 mys> 1077 kg 1077
REEav9Y-+ | o ck=24N/mm2|<A7 mByh>
0.08x4.00+ (1/2x (1.73+1.548) x0. 606
x1/2x (1.98+42.43)) x2 m3 4.7
<B7 myh>
0.08x4.00+ (1/2x (1.73+1.548) x0. 606
x1/2x (1.98+2.43)) x2 m3 4.7

.98 |
. 4 43 J

[

gkl
ERNEAEN - 1=




NO.

MEHEE
SRTITERE T (EEET)
IH H RO it = = B {1 =
avhy-+ ock=24N/mm2| 1/2x (1.068+1.139) x0.50x4.00+1/2x (1.00
+4.401) x3.00x0.50%x24+1/2x0.50x0.50
X2.624%2 m3 11.0
B — AR R (1.068+1.139) x4.004+ (1/2x (1.00+4. 401)
x3.00x 2+ (1.00+4.535) x0.50—0.50x2. 624
+0.50x1.414x2.624+1/2x0.50x%0.50) x2 m2 48. 1
5 SD345 D13 HmEExRLY kg 307
5 SD345 D16 HmEExRLY kg 425




NO.

HEFEE
ISATTERET (ImltT)
" H BO® & ] =X BHf| &% 2
#1EavY-b | o ck=18N/mm2| 7 Edal
(2.00% 1.935+1/2 % (1. 7041. 25) x 2. 25)
x2.30 = 16.53
HEA
(2.00x 1. 185+1/2 % (1. 7041. 10) x 3. 00)
x2.30 = 1511
ast
16.53+15. 11 m3 31.6
B —mmg | EREA
2.00x1.935+1/2 x (1.7041. 25) x 2. 25
+2.30x4.185 = 16.81
5
2.00x1.185+1/2 x (1.70+1.10) x3. 00
+2.30x4.185 = 16.20
a&t
16.81+16. 20 m2 33.0
215 AR | ERA)
2.30x 4.185+1/2 % (1.7041. 25) x 2. 25
+1.70x 1. 935 = 16.23
5
2.30x 4.185+1/2 x (1.70+1.10) x3. 00
+1.70x1.185 = 15.84
a&t
16. 23+15. 84 #hm2 32.1




NO.

HE

tHE

BS#ET (JOy U EHET)

5 _H

M &

Bt ) =

H

s

felo

av9Y-p7" 094

#& $%2 % 3bcm

mitiEFEITstEEZ LY

A voxin b FHR R

EHE S H=3. 12m

IR L=11. 46m

(3.12—0.10) x1.118x11.46 =

38. 69

K yhrn -VFR AEA

FHE S H=3. 15m

R L=6. 00m

(3.15—0.10) x 1. 118 x6. 00 =

20. 46

Kyhrpn - B EEA

THE S H=4. 60m

EHER L=5. 08m

(4.60—0.10) x1.118x5.08 =

25. 56

ZER¥E

0.60%x0.35%x1.118 =

0.23

foyhrhn - ER AEA

THE S H=4. 60m

EHER L=2. 50m

(4.60—0.10) x1.118x2.50 =

12.58

ZER¥E

0.60%x0.35%x1.118 =

0.23

aEt

38.69+20. 46+25. 56—0. 23+12. 58—0. 23

96. 83

m2

96.8

A2 39—+

o ck=18N/mm2

ARAIVY)- MBI EE V=0. 20m3/m2

96.83x0.20

m3

19.4

AF

et

RC-40

£ yarn - bR AR

1/2x (0.345+0.672) x3.27x11.46 =

19. 06

K yhrn -VFR AEA

1/2x (0. 345+0. 675) x3.30%6.00 =

10.10

fyhrpn - ER EEA

1/2x (0. 345+0. 820) x4.75%5.08 =

14.06

ZER¥E

1/2x (0. 345+0. 38) x0.35x0. 60 =

0.08




NO.

HE

tHE

BS#ET (JOy U EHET)

5 _H

M &

Bt

8

H

s

felo

£ yhann -+ £

aEA

1/2x (0. 345+0. 820) x4.75%2.50

6.92

ZER¥E

1/2x (0. 345+0. 38) x0.35x0. 60

0.08

aEt

19.06+10.10+14.06—0. 08+6. 92—0. 08

m3

50.0

B #h#t

EEMMEE t=10mm

£ yhamn -V R

R

(3.90—0.10) x1

.118%0.35+0.07+0.08

1. 64

£ yhann -V R

aEA

(3.90—0.10) x1

.118%0.35+0.07+0.08

1. 64

£ yhann -+ £

1

(4.60—0.10) x1

.118x0.35+0.07+0.08

1. 91

£ yhann -+ £

aEA

(4.60—0.10) x1.118x0.35+0. 07+0. 08

1.91

op

Bt

1.64+1.64+1.9

1+1.91

m2

1.1

Kigavhy-p

HuUMEHEEZSR

=+

WLYY TN S

1

10.76

=+

AR -

aEA

6. 00

=+

Ty hAtN - b B

1

5.15

H yhABN -b £

~

aEA

1.90

AEt

10.76+6. 00+5. 15+1. 90

23.8

EmEavh)- b

HuUMEHEEZSR

=+

AR -

1

12.16

~

 yhAIN - bR R

aEA

6. 00

=+

Ty hABN - b B

1

4.41

=+

Ty hAtN - b B

aEA

2.50

aEt

12.16+6.00+4. 41+2. 50

25. 1




NO.

MEFAE
METEAT (J0 o BEET)

H H Mt &t Cl = B fu =

15/h0O1k HUREHEEZZR (AULA—FITHRAD Eil7)

25 /hAIE HUREHEEZZSR (AA— I ERAD Eil7i)




NO.

HEFHES
H{t€F T (JERT)
IH H RO it = = Bl #% =
EiRav)Y-b | ock=18N/mm2| & vHrhhn -+ TR
1/2% (3.004+2.70) x0.30x6.30+1/2x (0.75
+0.60) x0.30x (7.47—6.30+4.57) = 6.55
£ yhann -+ £
1/2x (3.004+2.70) x0.30x2.80+1/2x (0.75
+0.60) x0.30x (4.50—2. 80) = 2.74
&5t
6.55+2. 74 m3 9.3
B —RREIRE | & RN -F TR
1/2x (1.754+1.60) x0.30+
1/2x (0. 754+0.60) x0.30 = 0. 71
£ yhann -+ £
1/2x (0. 754+0.60) x0. 30+
1/2% (2.254+2.10) x0.30 = 0. 86
&5t
0.7140. 86 m2 1.6
F oA M
- T
| 1am &0
t & M
7D _ F250 _
4 I:._I Hl
. o =
| &0 | 210
Bidt |Essgsm t=tom| £ 992000 - F iR
1/2% (3.004+2.70) x0.30 = 0. 86
£ yhann -+ £
1/2% (3.004+2.70) x0.30 = 0. 86
&5t
0.86+0. 86 m2 1.7




M{tERET EHEE NO.
JOy Y iEHEE (Ry Y XAIIN—FTR) EEA
b B EIG) £ E (L) s =
iy e |FHA) [ LEig Tim | F#HB) [ AxB
] 230 340 2850 310 310 37100 8835
3.40| 340 3400 0.8] 153 1180 4012
3.40| 340 3400 0.8 1.53] 1.180] 4012
240 390 3150 600 6.00 6000 18 900
& & 10.76]  12.16] 11.460] 35.759
THEEH)| 35759 .~ 11.460 = 3120 = 312m
FHEE L) = 11,46 m




M{tERET EHEE NO.
JOy Y iEHERE (Ry Y XAIN—FTR) AEA
b B EIG) £ E (L) s =
iy e |FHA) [ LEig Tim | F#HB) [ AxB
R4 240 390 3150 6.00 600 6000 18.900
& & 6.000 600 6000 18 900
THEE M| 18.90 6.000 = 3150 = 315m
FHER (L) = 6.00 m




M{tERET EHEE NO.
JOy Y iEEERE (Ry Y XAIN—FER) EFEA
b B EIG) £ E (L) s =
iy e |FHA) [ LEig Tim | F#HB) [ AxB
] 460 460 4600 575 441] 5080 23 368
& & 575| 44| 5080 23 368
THEE M| 23.368 5080 = 4,600 = 4,60 m
FHER (L) = 5.08 m




M{tERET EHEE NO.
JOy Y iEEERE Ry XAIN—FER) AEAE
b B EIG) £ E (L) s =
iy e |FHA) [ LEig Tim | F#HB) [ AxB
R4 460 460 4600 250 250 25000 11.500
& & 250 250 2.500] 11.500
THEEM| 11.50 2500 = 4,600 = 4,60 m
FHER (L) = 2.50m




NO.

B
~ 127 ~
i P ) Rl
o ck=18N,/mm2
DI N
—
1
. L S131 /]
o~} >
HVED,
IH H RO it = = Bl # =
avhy-+ ock=18N/mm2| 1/2 x (0.727+0. 737) x0.10x10. 00 m3 0.73
B — AR R 0.10x (1.118+41.077) x10.00 m2 2.20




NO.

HAYBSHEE
H#Ea 9 1)—Fk
B
L5
100 o
o
04 ) — b~
a ck=18N,/mm2
EI
| EI
| | —
430
HVED,
IH H RO it = = Bl # =
avh)- ock=18N/mm2| (1/2x (0.10+0.43) x0.154+0.43x0.10) x10.00 m3 0.83
B — AR R (0.25+40.10) x10.00 m2 3.50




NO.

HAYBSHEE
15/01k
i ! 1000
EL=161. 577
= L) Sl
o ck=T8H,/mm?
= ‘:I'JH .
= o f}
| EL=158. 927 ,' { ,
_ 1000
IEGER,
IH H S -1 it g = B4 % E
avh)- ock=18N/mm2| 1.00x2.65x0. 30 m3 0.80
B — AR B 1.00x2.654+2.65%x1.118x0.30 m2 3.54




NO.

HAYBSHEE
25/ Ok
B 1220
EL=170 &56
= e b el
o o= BN mmd
= 5 Ty
g 3 >
EL=165 =06
1230
1#rHY
IH H RO it = Bl # =
avhy- ock=18N/mm2| 1.22x4.85x0. 30 m3 1.78
B — AR R 1.22x4.85+4.85x1.118x0.30 m2 7.54




NO.

|’#

i NN o

[ B
(L) AFRITHERD

e




NO.

EET

HR{

|’#

—————— e —————————— e e
_ =) _ ™ = ] ]
.|n||.||l||.hI|I.||lq.||IH|.|._l||!. :
|._. ..h T HTIm_ﬁ = . . —T
ﬂ.__xh.\ F R
_ TRt o
Wit 4 G RN - .

[y i R o - ENEnEENRC DL
AW T
LGF CE

(2) BEMIHERD




BEYMREL




NO.

BEYEET

R oo R

A i T i




BEVEBET HEEIHE

Al oo AL S - B ® = it
EEYIUR LT
a5 — MERMEEL MmEEEY m3 3.6
BOEHRALEE T
FOE R AL EE CozXk m3 3.6




#H =E FF T 2

BEMRIELT BEYRELT
T B 77= & B oo A uhl)- & B
1 = X ?aﬁ E i’] vy M%:;%Hyi%b‘(zf{,i) B o= - = X %ﬁ F i’] vy H%;_%H)IEL,‘FELJEI') -
BB B | BB OBE (BT m | FE B # = BB OB | BB OBE (BT m | F B # =
NO. 53+3. 90 0. 00 0.00 0.2
NO. 53+10. 00 6.10 8.20 0.2 0.20 1.6
NO. 54 10. 00 10.10 0.2 0.20 2.0
EEAE
& i 16.10 18.30 3.6 & i 0.00 0.00 0.0 3.6




